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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1)  udemeff geyem 379 J9-3 W AmHeh JTfHaria: forg |

Candidate must write first his / her Roll No. on the question paper compulsorily.

(2) &Yty AMER 2 |
All the questions are compulsory.

(3) T T HT I & TS I-Tf&ehl H & foid |

Write the answer to each question in the given answer-book only.
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(4) T WAl H AT @S 7, 37 |l 3 3T T 91 & i |

For questions having more than one part, the answers to those parts are to be written

together in continuity.

(5) TH-9A % fedl I IS TUTR § fohet TR hi Ffe / 31aR/faiamymd g W &=t 9 < e

%I & HE A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

6) (i) I8 IT-9 < WSt A forvferd & — 31 3T |

(i) @vg ‘31 Tft Bl & fou rfEmR R |

(iii) @UE & % T WFT &, Tch AW H 91 T4 & | wreqeff i fopeft wep v <6 @ft @t sroi

HIEADETR |

(1) This question paper contains two Sections — A and B.
(11) Section ‘A’ is compulsory for all candidates.

(iii)) Section ‘B’ has two portions. Every portion has a set of seven questions. Candidate

can attempt only a set of seven questions of any one portion.
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(7) Tug 9 & 37 TAS T
<} 1-8 1

9-14

15-21

22-23

El 24-25

26-27

28-29

30

— QN B~ N

(@) W SN )

24-25
26-27
28-29
30
Section Q. Nos. Marks per question
A 1-8 1
9-14 2
15-21 4
22-23 6
B 24-25 1
2
4
6

N B D =

26-27
28-29

30

OR

24-25 |
26-27 2
28-29 4

30 6
(8) I T 22 (WUS-37) AT 30 (WUS-F) H 3T=ikeh forehed 2 |

There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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Tug — A
SECTION - A

1. HTEIC o KUl W ST bl ATH-8T faf=eH @rd § s 981 fe@rn Jrar g 7

Why does interest on partners loan is not shown in profit and loss appropriation account ? 1

2. TG o YoI¥T hid I T K1 o [T STAISH H T o Tofw w1 yfafee grft 7

What will be the entry for reducing the provision for bad-debts at the time of admission
of a partner ? 1

3. @l s W ferfay, frees siaria AR o Tewt s THT G S Hl Ui Sediaid s S 2 |

Write down the name of accounts in which general-reserve transfer at the time of
admission of a partner. 1

4. |, BT IR IS 1/2, 3/10 3R 1/5 < I H AN Sied §C ATHER &, TH B F ITTHh
TEVT AT 8 | BIIE HT ST T T |

Som, Mangal and Yuvraj were partners sharing profit in the ratio of 1/2, 3/10 and 1/5.
Som retires from the firm. Calculate the gain ratio. 1

5. Y o ToTIE W JEeh B fe@T e 3 50,000 % SHER T A TRk § 1 feEm M argurger
% 40,000 ¥ T W TS T 91! gfafse fefigu |

At the time of dissolution of a firm a creditor ¥ 50,000 is shown in the books is settled by
typewriter ¥ 40,000 is not shown in the books, write entry which is made it ? 1

6. M-I faawor o= % g wvras o ffea @ aeer /7 @t srufafaa s 6 dfai & 9@
fofam |

Write down the name of methods write-off discount/loss on issue of debentures by
statement of profit and loss ? 1
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7. A SIS S 9Tel FRUIH fohd o IR FRT ST 2 7

In which rate, zero coupon rate debentures are issued ? 1

8. T UTgH § WG i 31ferehad Hed §amsy |

State the maximum number of ventures in joint venture. 1

9. ST, Gehsl R AT 2 : 2 : 1 % UG H &1 Sled §U HRIER & | U BH T JTTehreT Tg0 Ll
? | TTHEATR T Y 40,000 8 | HHIRT TG gTiIca o Yot H qNadd T81 il & | T esmeh
X ATH 1 S Tfafsear G |

Pushpak, Pankaj and Ravi are partners in sharing profit in the ratio of 2 : 2 : 1. Ravi
retires from the firm. The profit on revaluation is ¥ 40,000. Amount of asset and
liabilities are not to be changed. Pass journal entries of profit on revaluation. 2

10.  HHAY 3R fepem AR =aEm™ & Ty et § | T A0 Tedent d qeft SeH! 1 g
T@d 2 | fhem 3 St & Ired 2 11,50,000 % 370 <6l T 1,80,000 H ST | ST &l shi GEcehl 1
JAM =1 g= 6T ST Tfarfseat G |

Kamlesh and Kishan are co-ventures in an underwriting business. Each one keep record
of all the transactions in their books. Kishan sold the shares received from a company of
% 1,50,000 at ¥ 1,80,000. Give journal entries in the books of both the parties for sold
shares. 2

11, S ue forsrar o fm Togaii o SR ot e <hIfT -
() HaY
(i) uTierfes
Distinguish between consignment and sale on the basis of following points :

(i) Relation

(i) Remuneration 2

SS-30-Accountancy [ Turn over



https://byjus.com/?utm_source=pdf+click
https://byjus.com/?utm_source=pdf-click

@BWUS 6

12. T YNUTT | % 40,000 S I 1 ATA T 60,000 H == | TEH % 18,000 1 IUR HIA
forsrar smiftrer 7 | Swoft sfieteh oot R 10 wfowra qen 358 31fYes e W faska g W 25 wfiera
HHIIH b1 TR 2 | 38 UK forsha 9t 5 gfaera afeny sweise off firerar 2 | e @ e
% 15,000 IEA §Y | SOl 3hl Teehi H HHTIH QAT SHRT |
A consignee sold goods of invoice price of I 40,000 at ¥ 60,000. Which includes credit
sales ¥ 18,000. The consignee is entitled to a commission of 10% on invoice price and
25% of the excess sale value over that. He also receives 5% del credere commission on

credit value sale. Only ¥ 15,000 were received from debtors. Prepare commission a/c in
the book of consignee ? 2

13, TR-SATITEh TEA13T GRI Jeivd 13Tl o foTq &t ST areft qedent o 8 fafaw |
Write the name of the books kept for the purpose of finding basic information in non-
trading concern. 2

14, Ffafea w8l # sa-= @ wE e § fafew -
Y =Y T 8,00,000; ¥a 24 % 6,50,000; TG 31N T 1,00,000; TG0 W &3 T 1,20,000
Write the following items in income and expenditure account and in balance-sheet : 2

Building fund ¥ 8,00,000; Expenses on building ¥ 6,50,000; Environment fund
% 1,00,000; Expenses on environment ¥ 1,20,000.

15. 3Afar, rffar s gfiar 2 : 2 : 1 % 3w § @B siedt 53 amsfier § | 37h fer 3G
I T 3,00,000; T 2,00,000 37 T 1,00,000 off | 31 A, 2019 ! THT B aTet a9 | §Sf
TS 8 Teerd oTfeh o T W 10 Yfawra aTfies et ¥ shige (SHT) X fean | Tose risfier
feoauft guria U, STTevEe TUTSH e gfafse €T |

Arpita, Archita and Sunita are partners in a firm sharing profit and losses in the ratio of
2 :2: 1. Their fixed capital were T 3,00,000; < 2,00,000 and ¥ 1,00,000 respectively. For
the year ended 31% March, 2019, interest on capital was credited to them @ 10% per
annum instead of 8% per annum. Showing your working note clearly, pass necessary
adjustment journal entry. 4

16. g1, 1% RN 4 : 3 : 2 % U H -7 siedt g8 arsfier 2 | i 1 318, 2019 =
JTHTY TEU Kt 7 | E fafa 1 wft TEmnSEl % uvEnd 39 St @Al W 9y o
% 3,93,000; % 3,96,000 3T ¥ 1,83,000 & | 15 ®H I ISt ¥ 5,60,000 T R AT I 7 |
AT AT A1 U 5 ¢ 3 8l 1 I HISerl g Uehe WTS ail of SIS ST aredt i
ST I |

Neha, Neeru and Shyamu were partners sharing profit and losses in the ratio of 4 : 3 : 2.
Neeru retired on 1% April, 2019. On the date their capitals after all such adjustments stood
at I 3,93,000; X 3,96,000; and X 1,83,000. The entire capital of the firm as newly
constituted is fixed at I 5,60,000. Their new profit sharing ratio of 5 : 3. Calculate actual
cash to be paid off and to be brought in by the remaining partners. 4
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17. Ufga, fagred, a9 3 TR 4 : 3 : 2 ;1 % 31UIG § o1 dicd 5L AR & | $7oh TR doft
@Al T AT ShAST: T 50,000 (hTS2); T 40,000 (3hfee); T 30,000 (Sfere) 3 T 20,000 (fere)
2131 9/, 2019 1 I3 featferan 29 @ &5 sl GHH 8 =0 | IS § shad T 2,000
T B Feh | HISIGRI b Yol WTd S5, AT T s 7L 3w A & 2 |
Rohit, Siddharth, Yash and Yashraj are partners in a firm sharing profit in the ratio of
4 :3:2: 1. Their fixed capital balances were ¥ 50,000 (Cr.); I 40,000 (Cr.); I 30,000
(Dr.) and % 20,000 (Dr.) respectively The firm dissolved on 31% March, 2019 due to

Yashraj become insolvent. Only % 2,000 realised from Yashraj. Prepare partners’ capital
a/c, if Garner V/s. Murrey rules applies. 4

18. W shrot Srferfem, 2013 St g - 111 WT-11 % 3TTER had T et =i fe@md 7o,
ATH - fraTor 93 MY |

Prepare a format of company’s statement of profit and loss with only main heading as per
the Indian Company Act, 2013 under Schedule III Part II. 4

19. WEGd 7 T&H I 100 & h! M T 1,000 S e «f5eh qod T N0 W WAt | Y07 &5
10,000 A | 10 TS T | T &t 78 37 <fig SHroet 3 8,000 T e TfehR T | 91 i
T | T hi ST AT 9T T 2,000 FHRT | 90 TS F@® A T 1,500 Wil 77 hi g & st |
AT Yo T YT AT SH18d, Afe ATl AT § 25 Tfera oy Sigeht Sefl Srar &l |

Mahadev consigned 100 bales of cotton to Satyam at invoice price of I 1,000 per bale.
Consignment expenses were X 10,000. 10 bales stolen in transit and the insurance
company accepted the claim amount of I 8,000. Satyam received the remaining bales and
paid cart hire I 2,000. 90 bales were sold by Satyam @ 1,500 per bale. Prepare
consignment account at cost price, if goods consigned with cost plus 25% on profit. 4

20. fyeifend forgati o SMYR W G TT8d 3TN AT3ERY § 37X HifT :

(i) 3= (i) oStRE

(iii) "= (iv) stfufem

Write down the difference between joint venture and partnership on the basis of
following points : 4
(i) Objects (1)) Registration

(111)) Member (iv) Act
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21. Freifena g3t @ “Fertur showmor g o foT IRk dSft sy <At Ui s iR -

A @ran
4 4

ChE] 28,000 feptr (weh wiTg o1 fuset
(+) T 2,000 | 30,000 | ¢ § 31fim yTeq) 24,000
HeIBTH (10% ohl S Hei = ) 4,000 | =T 36,000
fo-== 12,000 | =TT (10% & | Tmr 5w1) | 8,000
T 22,000

68,000 68,000

IR Tehg I T 22,000; Sh1T a4 T 8,000; 37 =eT T 2,000.

From the following information, calculate the opening capital fund of “Kiran Welfare

Club”. 4
Income and Expenditure Account

4 3

To Salary 28,000 By Rent

(+) Outstanding _2,000 | 30,000 (including one month

To Depreciation advance of last year) 24,000

(@ 10% on Furniture) 4,000 | By Subscription 36,000

To Advertisement Exp. 12,000 | By Interest 8,000
To Surplus 22,000 (@ 10% on F.D.)

68,000 68,000

Opening balances were :

Opening Cash Balance ¥ 22,000; Outstanding Salary I 8,000; Advance subscription
3 2,000.
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22, Ufed 3 Tt U BH | 7 : 3 % I H AWM dicd §C TSR & | 31 7, 2019 i
TIhT 3T Fagar i 2
e fagan
IR 4 wrafyat q
IGEALY 60,000 | Tshe 36,000
= -G 10,000 | eER 46,000
EEIRCIGE (-) G /U IS 2,000 | 44,000
Tfed 50,000 @hYy 50,000
B 40,000 | 90,000 | wie 30,000
1,60,000 1,60,000

1 373, 2019 =T WA Sl T ATAER o &Y & =7 31t o a1 yawr fem
(i) a9l < T 3 30,000 3R 3 10,000 Sftrem Fwm |
(i) | T 6l 20 Ffowra T o 36T SRS § FEATdd shi A1 8 |
(iii) T 3T TATE T GoI 60 TT=Td Teh TR AR |
(iv) 1 AT - 3T 21 : 9 < 10 I |
(v) U |TRICR i Yt 7T ATSieR <l YSht o STMER 9 gt i A |
QIR @ U ATgerl % gofl @i TSy |
GO
1-4-2019 ! T, d1$ 3 IS HEER &, S 2 : 2 : 1 % I § -1 oied & | 32
% 2,40,000 st Th T Sie AT difereht o wElt 7, forment anfves fiftrm 7 8,000 ev-zifa
@d ¥ for@n 9ar & | ®H o @Id Ifded 31 AT ol ¢ fhu I 8 | 1 37, 2019 i SIS i

Teg & ST B | 370 it e st afy & wner-we Sie % St gfafaf i g v
T R JATIHT BT

(i) Fgh fafa T 10 Ffera anfifes @ & Gt W= |
(i) TR &1 o feemn S T 7Ta =R ot & 3fiEd oy WX SATHTiG 80 |

(iii) HreieR =t @t # fewmn St {6 wH it @fa =Ir 991 & 3fgd a1 & @9 99 & FT 5
STTYR 9T ITUMET hi ST |

(iv) 1 3199, 2019 = 5 sl ISt ¥ 3,60,000 <, G136 fafyr & 9 i fafyr T e
22,000 9 |

(v) T IR N1 o ATH-gTH s T 60,000; T 1,12,000; % 20,000 (815) a1 T 1,36,000 o |

g T AUTeh Tl ETaT ST |
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Rohit and Rahul are partners in a firm sharing profits in the ratio of 7 : 3. Their balance
sheet as on 31% March, 2019 was as follow : 6

BALANCE SHEET

Liabilities 4 Assets 3
Creditor 60,000 | Cash 36,000
General Reserve 10,000 | Debtors 46,000
Capital Accounts : (-) PBD _2,000 44,000

Rohit — 50,000 Stock 50,000
Rahul — 40,000 90,000 | Plant 30,000
1,60,000 1,60,000

On 1% April, 2019 they admitted Bhavesh as a new partner on the following terms :
(1) Bhavesh will bring ¥ 30,000 for his Capital and I 10,000 for premium.
(i) 20% General Reserve will be transferred to provision for bad-debt account.
(iii) Stock and Plant value reduced upto 60%.
(iv) New profit and losses ratio will be 21 : 9 : 10.
(v) The capital of old-partner are also to be adjusted according to new partner capital.
Prepare Revaluation account and partner’s capital accounts.
OR

On 1-4-2019 x, y and z are partners sharing profit and losses in the ratio of 2 : 2 : 1. They
had a joint life insurance policy of ¥ 2,40,000 and the annual premium of ¥ 8,000 has
been charged to Profit and Loss account every year. Account were closed on 315 March
annually. z died on 1% August, 2019. Besides his capital and insurance money z’s Legal
representatives are entitled to : 6

(1) Interest on Capital at 10% per annum upto the date of death.
(i) Partner’s share in profit based on average profit of last four completed year.

(i11)) Partner share in goodwill (premium), which is to be calculated at three years of
purchase of average profit of the last four years.

(iv) z’s Capital on 1% April, 2019 at T 3,60,000 and his drawings from the date to the
death amounted to ¥ 22,000.

(v) Profit and Loss for last four years were I 60,000; I 1,12,000; ¥ 20,000 (loss) and
T 1,36,000 respectively.

Prepare Legal representative’s account of z.
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23. 3men fafieg 9 3 100 S a1et 10,000 T9aT 3791 10 Sfasra Sifrm @ S e | yam 39
YR BHT AT — T 40 37Teed W (SAferrg afga), 3eed . T 40 3R A=A R T 30 19,500 30
o ToTu 3Tere ITed BW | It SATAgehi Wi e L TeaT T | BT 300 I h R &, §ed T
T R Yo | e @ | Tk A 9k TS, AT foh 200 3790 o1 9/ 7, I35 [T TR 67
A 3TTEeA o |19 L T | 3Tawass SHe gfafeedt € |

Asha Ltd. issued 10,000 equity shares of ¥ 100 each at 10% premium, payable as follow : 6

T 40 on application (including premium), ¥ 40 on allotment and ¥ 30 on call. Application
were received for 9,500 shares and full allotment was made. Komal holding 300 shares
failed to paid allotment and call money. Another shareholder Raj holding 200 shares paid
call money with allotment in advance. Pass necessary journal entries.

g -«
SECTION - B

24. 3 He %1 I forfau, {8 aummepR 31 (e -g1f) faeer = & 100 % &9 8 o S g 2

Write down the name of item which is taken as 100 in common size statement of profit
and loss (income). 1

25. ARG W STIAT 9T BT, AT THETe 39T 87.5 faerd &l ?

What will be the operating profit ratio, if operating ratio is 87.5% ? 1

26. SfI-fergeryur 1 B 3 38Rt deh-itehi o = ferfgw |

What is trend-analysis and write down the name of its methods. 2

27. T SHEH! 1 TG 3TIIM 4 @ 1 & A7 HRERS Yoil T 75,000 & | =7e] FFAREr T& =me] afeed
<61 T A1 AIT |

Current ratio of a company is 4 : 1 and working capital is ¥ 75,000. Calculate the amount
of Current Assets and Current Liabilities. 2

28. Afcrerar § fe@madl-SHeT R 2 ? 3T g dH IcrE fafigu |

What is window-dressing in ethics ? Write down any three examples of it. 4
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29. FEfRed FET3Tl & THHTRR ST foed o faa T sl gfd hifs :

- e R TR RS FFA R %
e | 2018 %) | 2019 %) | % 2018 | % 2019
(A) HHAT T e -
AT 379 Sl 3,00,000 | .......... 60.00 | 40.00
gog R | | 1,95,000 | ..ooooeee | eeeenin,
T | | e | e, 20.00 | ..........
AT 5,00,000 | 6,50,000 | 100.00 | 100.00
(B) T
R amta 2,00,000 | ...ooooee | oo, 50.00
e | 2,60,000 | 30.00 | ..........
EISCEIRR] 1,50,000 | ..ooovven | eoiieiis | e
M || eeeeeeeen 6,50,000 | .......... 100.00
Fill the blanks from the following information for common-size Balance Sheet : 4
Particulars Note | Absolute Amounts | % of Balance Sheet Total

No. [ 2018 ) | 2019 ) | % for 2018 | % for 2019

(A) Equities & Liabilities :

Equity Share Capital 3,00,000 | .......... 60.00 40.00
Res. & Surplus | | ...l 1,95,000 | .......... | ol
Current Liabilities | | ..o | o 20.00 | ...l
Total : 5,00,000 | 6,50,000 100.00 100.00

(B) Assets:

Fixed Assets 2,00,000 | .......... | .. 50.00
Investment | | ...l 2,60,000 30.00 | ...
Current Assets 1,50,000 | ...oooooon | e |
Total: | | ... 6,50,000 | .......... 100.00
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30. #ft Aiaforar e H i EAL i E 8
§
THAT 37 Gt 40,00,000
ISt e 4,00,000
10% RoTT= 16,00,000
g fershl 28,00,000
Hehel AT 16,00,000
forsht == 2,00,000
=] Fefra 4,00,000
=Te] et 3,00,000
TRIeh Tk T 3fem The okl SATTore 20 faerd 2 |
IR ¥hd T 50,000
e St <t o i
(i)  ReTdT 3TUTd (i) TTHeE ST
(iil) U=TEH 1A (iv) ThY ITEd SFIITA
Fra

(i) T gean | TR o g U qen “SwuT-EHaT 31U <ht TUET hif -

I A (S & HL b I9=) T 3,50,000

10 fcrera Hora= % 5,00,000
H 50%
faf=fom & % 40,00,000

(i) T gt | yRhes ud Sifam why 6 Uit 31 it
ot fashl % 12,00,000; FheT ATH ANTA 1 1/3; ThY e 1A 5 TAT; 3AfH ThY
IR Thel | T 24,000 ATUH 7 |
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Following are the information of Shree Sanwaliya Ltd : 6
4
Equity Share Capital 40,00,000
Capital Reserve 4,00,000
10% Debenture 16,00,000
Net Sales 28,00,000
Gross Profit 16,00,000
Selling Expenses 2,00,000
Current Assets 4,00,000
Current Liabilities 3,00,000
Closing Stock is 20% excess on Opening
Stock
Opening Stock 50,000
Calculate the following ratios :
(1) Liquidity ratio (i) Proprietary ratio
(ii) Operating ratio (iv) Stock Turnover ratio
OR

(1) Calculate the Rate of Return on investments and “Debt-Equity ratio” from the

following information :

Net Profit (after interest and tax) < 3,50,000

10% Debentures 3 5,00,000
Tax Rate 50%
Capital employed < 40,00,000

(i) Calculate the amount of opening and closing inventory (stock) from the following

information :

Total Sales I 12,00,000; Gross Profit 1/3 of cost; Stock turnover ratio = 5 times;
Closing Stock is I 24,000 excess over the Opening Stock.
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g - §
SECTION - B

24. TUTE g UG sl AT & foTt S e =T AT fetfau |

Write the name of function used for calculation of straight depreciation method. 1

25. T e bl TR HIfTT |
Define the work book. 1

26. .. wA.TE. H H1E < gt fafe |

Write any two disadvantages of DBMS. 2

27. T (JATTA) JAT o hIg IR 3¢Vl fetfgu |

Write any four examples of input devices. 2

28. BIE-3M1C o TRATH | Hig IR FAN ARG |

Write any four applications of spread-sheet in accounting. 4

29. HEHIRA TR FishaT o fafi=T =or erse hifu |

Explain the various steps of computerized accounting process. 4

30. T W oy fewft faafem

(i) THITEH (i) TIETE
(iii) @ gfdeg (iv) 3Tuarg gfdeea
Ay
“THIICT TG TG, TET G UG & Sg & |7 30 f fargai <ht werran & wose Hifvw -
() e (i) <
(iii) AT (iv) &
(v) afieRtor (vi) FETESE gfafse
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Write short notes on following : 6
(i) MIS (i) AIS
(i11)) Accounting Report (iv) Exception Report
OR
“Computerized accounting system is better than Manual accounting system.” Explain it
with help of following points : 6
(i) Speed (i1)) Cost
(111) Back-up (iv) Security
(v) Classification (vi) Adjustment entry
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